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Steps scint CH1
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Steps scint CH2
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Steps cer CH1
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Steps cer CH2

N_steps_cer_CH2

htemp
o Entries 706
300 — Mean 4.762 N_steps_cer_ CH2
— htemp
- Std Dev 5.637 B — o8
— 300 — Mean 3.376
250 — - Std Dev 1.975
- 250 —
200|— -
- 200 —
150 — 10—
100 Ej 100
E 50[ —
50 -
: 0 7\ L 1 Il 1 Il 1 1 | Il 1 1 Il 1 il 1 1 1 1 1 1 B - - B Il 1 1 1 B - - B Il 1 1 1 Il 1 1 Il
~ m 0 1 2 3 4 5 6 7 8 wer cor ol
0 L1 | I e T e P s IR SO B | | L L | [ _steps_cer_|
0 10 20 30 40 50

N_steps_cer CH2

mu 120 GeV, 100 events, 0 degree, filter ON




Time vs Z
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Y vs X (CH1 O degree)
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Y vs X (CH2 O degree)
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N steps vs time (CH1 O degree)
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Steps vs Z (CH1 O degree)
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Steps vs Z (CH2 O degree)
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